
TERMIGNONI S.p.A.
Via della Rampina, 1       Tel. 0039.0131.71666 

15077 Predosa – Italy       Fax 0039.0131.71696 

www.termignoni.it              info@termignoni.it 

Y090 Yamaha R1 1000 2009 2 SIL

ASSEMBLY NOTE pag. 1/3

MOUNTING THE TERMIGNONI 

SILENCERS

• Assemble the silencers with their respective 

final bodies (Fig. A - D) fix them with the springs 

in the pack (Fig. B - E); position the 2 metal 

bands (in the pack) without  tightening the 

screws (Fig.C - F); the right hand final body is 

the shortest of the 2;

•Mount the left-hand silencer to the original 

collector (Fig. G) taking care not to pass the 

painted sign on the collector;

•Insert the spacer TY125 (Fig. H) and fix to the 

tail of the bike using the screw M8x16 and the 

washer 8x24 in the pack (Fig. I);

• Mount the silencer ring holders and their 

rubbers together Fig. J;

•Position the silencer ring holder on the silencer 

making sure that it is positioned as in  Fig. K, 

use the screw M8x20 and washer 8x16 to fix to 

the spacer (Fig.L);

A B

C D

E F

G H

I J K L

ONLY TIGHTEN ALL 

SCREWS AFTER THE KIT 

HAS BEEN COMPLETELY 

MOUNTED



TERMIGNONI S.p.A.
Via della Rampina, 1       Tel. 0039.0131.71666 

15077 Predosa – Italy       Fax 0039.0131.71696 

www.termignoni.it              info@termignoni.it 

Y090 Yamaha R1 1000 2009 2 SIL

ASSEMBLY NOTE pag. 2/3

MOUNTING THE TERMIGNONI 

SILENCERS

•Mount the right-hand silencer to the original 

collector (Fig. M) taking care not to pass the 

painted sign on the collector;

•Insert the spacer TY125 and fix to the tail of the 

bike using the screw M8x20 and the washer 8x24 

(in the pack) (Fig. N);

•Position the silencer ring holder on the silencer 

making sure that it is positioned correctly as it 

was for the left hand side, using the screw  

M8x20 and a washer 8x16 to fix to the spacer 

(Fig. O);

•Mount the respective clips (in the pack) to the 

respective final bodies as seen in Fig. P;

•The biggest carbon heat shield must be fixed to 

the right hand final body (Fig. Q);

•As seen in Fig. R – S using a screw M5x12, a 

spacer TD079 and an amid  washer (in the pack) 

to fix the right hand heat shield to the Termignoni 

final body (Fig. T);

•Using a screw M5x12 , a spacer TD079 and an 

amid washer to fix the heat shield TY129 to the 

left hand final body (Fig. U – V);

•Position the silencers correctly as seen in Fig. X;

•Tighten all screws, starting from the ones of the 

metal band and finishing with the ones of the final 

bodies (Fig.Y).

M N

O P

Q R

S T

U V X Y

ONLY TIGHTEN ALL 

SCREWS AFTER THE KIT 

HAS BEEN COMPLETELY 

MOUNTED



PACKING LIST Pag.3/3

Y090 Yamaha R1 1000 2009 2 SIL

N° 1 RIGHT SILENCER Y090 ova “B” L. 300   cap TER282

N° 1 LEFT SILENCER   Y090 ova “B” L. 300   cap TER282

N° 1 RIGHT HAND FINAL BODY Y090

N° 1 LEFT HAND FINAL BODY  Y090

N° 2 RING HOLDERS TY126 + RUBBER 

N° 2 SHORT SPRINGS  TER009 WITH RUBBER 

N° 2 METAL BANDS TY042 WITH SCREWS M8X25 

AND WASHER 8X16

N° 2 SPACERS TY125

N° 4 CLIPS M5

N° 4 SMALL ARMID WASHERS

N° 4 SPACERS TD079

N° 2 SCREWS M8X20

N° 2 SCREWS M8X16

N° 4 SCREWS M5X12

N° 2 WASHERS 8X24

N° 2 WASHERS 8X16

N° 1 LEFT HEAT SHIELD TY129

N° 1 RIGHT HEAT SHIELD TY128

TERMIGNONI S.p.A.
Via della Rampina, 1       Tel. 0039.0131.71666 

15077 Predosa – Italy       Fax 0039.0131.71696 

www.termignoni.it              info@termignoni.it 


